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PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Demeaumeuareupmier G e h@ Qe elamelhEb gnssry 500 Gemhaad
aflen_wafl&salL.

15 Discuss different types of Banks under the Banking Regulation Act 1949 and
state the laws relating to them.

1949 amd QWEGwan L sdar ug uoGap endsalar eumssamer
cleurdlgg HNID DG SMHS FL_LRisemer @GOG ayb.

2 What are the criminal remedies available to the drawee in case of dishonour of
cheque under the Negotiable Instruments Act, 18817

rHpE@DWTIE &L 1881-a1 &P 6@ &TGFTene WFUL bNESLLLIL
Blevauller srCereme QupDeHEE HaLssamiqw GoHoedwd Sieulflser wrenal ?

3 What are the powers and functions of the Reserve Bank of India?
@rdw faie eumdulen ofsmrmiser LHOID LS wrame ?
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each. .
G etreupeuameunmiar @ ety H@ geubeunm elamelHGn engsmp 300 Qenpaefle

efen_wefl&sa|b.

4, Explain the risks in opening online accounts without proper introduction.

o flw <oMepshd @aorwed geamsuuBb Qearuell sams@sermed eHubD
@\ eaTeaamer 6T Es.

5.  Explain different types of crossing of cheques.

Lo auemswrar snGsreauiled @mn&Ed @5”1&]_L_QJBSGB};S1T (cheques) eflaul.




What are the advantages and disadvantages of Nationalisation of Banks in
India? ‘ ’

@pdwureier eundlsdr  Czfwuorssiul L e - pereoseT  WLHMID 566)1.08;&1
wreeu? - ' ' : o

>

PART C — (5 x 4 = 20 marks)

Write shortm notes on FIVE of the following :
Deraupauamape REEANG Hm GHULSET Tgs.
(a) Rights of thé customer ° A
. aumgseswnanier 2 Mewser
(b) » Clayton’s case, 181I6.
Hlenerl_ L e &S, 1816.
(¢©) Duties of collecting Banker
. a@dlEED aumdlwufer vaflsar
(d) Special types of customers of Bahkers
 andler Apliy uTyEMSWLTETIEET
(e) Travellers cheque
vwesflger arGsrenaar
() Paying Banker
uemTLD lerr@és@fo auradl
(g) Stale note

Qsdverm gy euenTd
PART D — (2 X 6 = 12 marks)
Answer TWO of the following by referring to relevant proizisions of law and
decided cases. Give cogent reasons.
Demeu(meuaTeup HIET @rarTeHE FLL UMELKSGET LHMID STorelssiiu L
asGaoas sl 5&hs srreambs@ELer dloLwelssayb.

Ravi draws a Bill of Exchange payable at 50 days after the arrival of the ship
‘Ganga’ at Mumbai. Is the Instrument valid?

geil ereiLiGuiT ‘GRIGT GTeNp SLILID (P®U ubsdmLbS 50 Bl ser S055 Lamb
SmEUBNaE @if LAPMIEFF L uTHDTT. QbBS eIERTLD Q&G‘u@]uu‘_u_m@m"?
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10.

‘A’ draws a cheque in favour of ‘B’ on 8.3.2021. ‘B’ presented the cheque in the
Bank on 10.3.2021, but on 10.3.2021, ‘A’ was not alive. Discuss the duties of
the bank. : ’ ~

‘@ eremueu ‘i) ETETLIIHES, 8.3.2021 IiaTn &Gt Qaran euardpmi. ‘<)
< s1GsTerew 10.3.2021 Iatn eundluld Csgusdarmi. geamd 10.3.2021
e 2 u@mLer ‘o Qdame. euhiAulen SLEDSET eTaen ?

A Bill payable with interest at 12% per annum is altered into one payable with
interest at 16% per annum. What is the effect of such alteration on the validity
of the bill? ' : ) . _—
aumLSHDG 12% aulyuar QeQissssss LIHNEE G QaTn uBLEHDEG 16%
Al et Qessssssg e HmssLUOEDg. LIPS g CFowssES
serewuler Bz Gupblerarar Hmsssden ellearay wg ?
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